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QUESTION 1

Refer to exhibits. Exhibit A. 

Exhibit B. 

Exhibit A, which shows the SD-WAN performance SLA and exhibit B shows the health of the participating SD-WAN
members. Based on the exhibits, which statement is correct? 

A. The dead member interface stays unavailable until an administrator manually brings the interface back. 

B. The SLA state of port2 has exceeded three consecutive unanswered requests from the SLA server. 

C. Static routes using port2 are active in the routing table. 

D. FortiGate has not received three consecutive requests from the SLA server configured for port2. 

Correct Answer: D 

 

 

QUESTION 2

Refer to the exhibit. 
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Based on the output shown in the exhibit, which two criteria on the SD-WAN member configuration can be used to
select an outgoing interface in an SD-WAN rule? (Choose two.) 

A. Set priority 10. 

B. Set cost 15. 

C. Set load-balance-mode source-ip-ip-based. 

D. Set source 100.64.1.1. 

Correct Answer: AB 

 

QUESTION 3

Which two settings can you configure to speed up routing convergence in BGP? (Choose two.) 

A. update-source 

B. set-route-tag 

C. holdtime-timer 

D. link-down-failover 

Correct Answer: CD 

 

QUESTION 4
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Refer to the exhibit. 

Based on the exhibit, which statement about FortiGate re-evaluating traffic is true? 

A. The type of traffic defined and allowed on firewall policy ID 1 is UDP. 

B. FortiGate has terminated the session after a change on policy ID 1. 

C. Changes have been made on firewall policy ID 1 on FortiGate. 

D. Firewall policy ID 1 has source NAT disabled. 

Correct Answer: C 

 

 

QUESTION 5

Refer to the exhibits. Exhibit A 
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Exhibit B 
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Exhibit A shows the traffic shaping policy and exhibit B shows the firewall policy. 

The administrator wants FortiGate to limit the bandwidth used by YouTube. When testing, the administrator determines
that FortiGate does not apply traffic shaping on YouTube traffic. 

Based on the policies shown in the exhibits, what configuration change must be made so FortiGate performs traffic
shaping on YouTube traffic? 

A. Destination internet service must be enabled on the traffic shaping policy. 

B. Application control must be enabled on the firewall policy. 

C. Web filtering must be enabled on the firewall policy. 

D. Individual SD-WAN members must be selected as the outgoing interface on the traffic shaping policy. 

Correct Answer: B 
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